
   Problem Solving 

1. Liza has 3 times as many pencils in her school box as Rebecca. Together 
they have a total of 24 pencils. How many pencils does Rebecca have? 
Show your work. 
 
 
 
 
 
Answer_______________________________________________________ 
 

2. Mathias has a total of 18 pens and pencils in his backpack. He has 8 
more pens than pencils. How many pens does he have? 
Show your work. 
 
 
 
 
 
Answer:______________________________________________________ 
 

3. Together Nina and Selma have 17 pens. If Nina has 3 more pens than 
Selma, how many pens does Selma have? 
Show your work. 
 
 
 
 
 
Answer:______________________________________________________ 
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